KRB AR T R

J20—-S608HLE
FENE (1.3 .-22810)

(1) BEXNE
OB RERBAAREBTNEY —EXDOBRFAAR (1 8H120)

(8fi1 )
ENEEE ZNE | 2Nk 2 2 ZMiE
AT (A 1 2 3 4 5
7,215 7,981 8,791 9568 | 10,334
HERFEERARREENE 1 6,693 7,459 8270 9,047 9,812
taes IR IABINE 133 133 133 133 133
o —E IEHAFIRIL0E 1 244 244 244 244 244
REWESEENE 1 144 144 144 144 144
NEREHENEE (B) (QED 6,493 7,183 7912 8611 9,301
BE&IBEA-B)=0) (151818) 722 798 879 957 1,033
NEREHENEE (B) (8ED 5772 6,385 7,033 7,654 8267
B22BEA)-B)=C) (2%aB) 1,443 1,596 1,758 1,914 2,067
BERICHND | £ 1 Bk 320 320 320 320 320
Bo &b 52 BB 420 420 420 420 420
D)1 = I3 BEOH2 820 820 820 820 820
EE= 5 4 BxfE 1,300 1,300 1,300 1,300 1,300
BECHND 51 BB 0 0 0 0 0
Bo &b F2 BB 370 370 370 370 370
D2 % 3 EREO2 370 370 370 370 370
ZRE F 4 BB 855 855 855 855 855
BECHNHD £ 1 BB 300 300 300 300 300
BoaBn £ 2 BB 600 600 600 600 600
E) &£ 3 @ 1,000 1,000 1,000 1,000 1,000
F 3 BEQ 1,300 1,300 1,300 1,300 1,300
5 4 BB 1,800 1,800 1,800 1,800 1,800
Bo&ie%s £ 1 BB 1,342 1,418 1,499 1,577 1,653
NEE FE2 BB 1,742 1,818 1,899 1,977 2,053
OC+DI1+E | F I3 EBED 2,542 2,618 2,699 2,777 2,853
)@= £ 3 O 2,842 2,918 2,999 3077 3,153
£ 4 B 3822 3,898 3,979 4,057 4,133
E 4 =B
(> B 4,543 4,696 4,849 5014 5167
Bo&18% £ 1 BB 1,022 1,098 1,179 1,257 1,333




D& FE2 BB 1,692 1,768 1,849 1,927 2,003
OC+D1+E | I3 ERED 2,092 2,168 2,249 2,327 2,403
) BRE % 3RO 2,392 2,468 2,549 2,627 2,703
F4 BB 3377 3,453 3534 3612 3,635
& 4 b
4,098 4,251 4,413 4,569 4,722
23--|=}:s))
OHREENETIRAPTEENEY —E2DMRFAR (1 BHi2D)
(81 A
S S
EREECMBRE A 1 2
5,384 6,605
NETIHRRAAPTEENE I 5,006 6,227
HeBEFIIRIARINE 133 133
T — IR RARISRIE N0 | 244 244
METHENEE (B) (9 ED 4,846 5,945
BC&IB%E(A-B)=(C) (131am® 538 660
METHBNEE (B) (8FD 4,310 5,284
BoaiBgE A -B)=C) ©Czas’m 1,074 1,321
BEICHNHD £ 1 B 320 320
BoaibiE % 2 B 420 420
D)1 % 3RO 820 820
Bz= F 4 BB 1,300 1,300
BRICHHD £ 1 B 0 0
Bo&itss £ 2 B 370 370
D)2 % 3 EREDO 370 370
ZRE £ 4 B 855 855
& 1 b 300 300
BEICHNHD & 2 & 600 600
BoaBn % 3 ERBO 1,000 1,000
B ERCR= =) 1,300 1,300
F 4 BB 1,800 1,800
£ 1 BB 1,158 1,280
BoaibsE £ 2 BB 1,558 1,680
DIt &£ 3 @ 2,358 2,480
C+D1+(E) £ 3 O 2,658 2,780
@= % 4 B 3,638 3,760
E4 BB (281818 4,174 4,421
Bo&i8EE 1 B 838 960




NEE % 2 B 1,508 1,630

(C)+(D)2+(E) & 3 @ 1,908 2,030

ZHRE &£ 3 O 2,208 2,330

F 4 BB 3193 3315

E4 BB (281818 3,729 3976
QIMEBSWENENE

PIRESENIED 6.0%EF UICEMEICEM (11.10M) ZEU/CEE
D 10% (2 EBDT3E 20%)
@REEBHFEENENE I
PTRESENTHD 2.3%ZF UICEMUHMICEM (11.10M) ZEUICER
D 10% (2EEBDTE 20%)

ORE
1B8®HEH  1,800H
(BAIR 438 M. BR 6221, YR623 M. £OD117HD
(GeSUILE!

& 2058 (2B&8BD7E4100)

(2) ZDMONE

DEEBE FEZ\EIEEET,

@ELBLYYILNE 1B:1008  Y3—hFRATANADPOREL. RRY
ELTUYIINERRENWLTRDET, (BH. CAAD
KEZCHRESNDIHBEICIBRICH CET,)

Q=2 At LEeofl))I-y3vER. . EMY —EXOERRSENERIES

NTENET,



REAAPTEENEMmE: J0—-SH6HHAE
FBRE (3E8IB)

MERREDED DEENE

(1) REAAPTEGEMET —EXERNE

OBRZE -ZKR=E (1 fRitbdrzsd, 1 BRI 1110 B)
- HEe | IR | mEEE | = 180% | 18HE0D
BNERTE | B
FkR | meEit | EE&| &Ft | BigE (B | Bc&B%ER)
ZEA 603 12 22 13 650 7215 2,165
ENE2 672 12 22 13 719 7,981 2,396
EZMNE3 745 12 22 13 792 8,791 2,637
EMNiE4 815 12 22 13 862 9,568 2870
EZNES 884 12 22 13 931 | 10,334 3,100
(2) MEFPBREBARMEENEY —EXERRE
ORAZE - ZKR=E (1 st rzsd, 1 81N 11.10 D)
HEEE | Bt 1 BO®mE | 1 8HBEVDOBE
DERE | B | RISt
e | st 58 () &8s (M)
ETIE 451 12 22 485 5,384 1,615
BRIE2 561 12 22 595 6,605 1,982

(3) FBA

FE& 615H
KBRS BN D D%
DFETI., FLLEBENEHELZS),

2. iERE (O

ERRETEAY —EREFRICHRBHRNBECEIBITDCEEIN, B

E/\ A\
e, N

EMCECRBREDIZMICEDIEDNESNTNDED)

(1) B3
18H120

1,800 H

RSN DOBREZITDCENTEIES




(BAR 438 M. BR622M. YR 623M. £OD117H
ABFIBIZDNTIE, BRRUEREDZVEIEEET )

(2) HEE
1B8®HEHD 1,3008 (B=)
855H (BAKRE)

(3) ZDMONE
BRIR., TESNE. BEBE « - « FEIRERENDDDFT,



